Method of Structural Matching and its Application to Lagerstrom's Model Equation

Keldibay Alymkulov

Mars Keneshalivich Omuraliev

Institute of the Fundamental and Applied Researches at Osh State University, Kyrgyzstan, *keldibay@mail.ru* Institute of Business and Social Development, Kyrgystan, *m.omuraliev@mail.ru*

Abstract: Here it is constructed by the method of structural matching of an asymptotic solution Lagerstrom's model equation andthis solution will converge uniformly for small parameter though one is other small parameter, than primary.

Keywords: *Method of matching, Method of structural matching, inner and outer solutions, Asymptotic expansion, Function Green's.*

1. INTRODUCTION

1950 y. Lagerstrom A.P. [1] for the investigation of the Nav'e-Stokes equation supposed next equation in the small number of Reinolds

$$\frac{d^2\eta(r)}{dr^2} + \frac{n-1}{r}\eta(r) + \eta(r)\frac{d\eta(r)}{dr} = 0, \ \eta(\varepsilon) = 0, \eta(\infty) = 1,$$

here $0 < \varepsilon$ - small parameter,*n*-dimension of space, $r \in [\varepsilon, \infty)$ - the independent variable, $\eta(r)$ - unknown function.

Existence and uniqueness of this equation was proved in [2-3]. Expansion asymptotic of the solution of this equation proved by method of matching (MM) in [4-11], by method of the integral equation in [12], by method of fictitious parameter in [13], for the different meanings n. It is important to note that the rule of matching was proposed by Van Dike [14]. Justification of the MM was made by Il'in A.M [15]. Here we will apply method of structural matching [16-20] for expansion asymptotic of solution of this equation.

2. METHOD OF STRUCTURAL MATCHING

It is conveniently to make the next transform $r = \varepsilon x$, $\eta(x) = 1 - y(x)$ in this equation, then we have got

$$\frac{d^2 y(x)}{dx^2} + \left(\frac{n-1}{x} + \varepsilon\right) \frac{dy}{dx} = \varepsilon y(x) \frac{dy}{dx}, y(1) = 1, y(\infty) = 0 .$$

For concreteness we will consider case n=2 only. Then

$$\frac{d^2 y(x)}{dx^2} + (\frac{1}{x} + \varepsilon) \frac{dy}{dx} = \varepsilon y(x) \frac{dy}{dx}, \ y(1) = 1, \ y(\infty) = 0.$$
(1)

Definition1. The variable *x* is named outer variable.

Definition 2. We will call the solution of this equation (1) that satisfies the condition y(1) = 0, y'(1) = a, here a = const, outer solution. We will select a = const so that the outer solution will exist on maximal interval that is $J(\varepsilon) = [1, \varepsilon^{-1}]$.

3. THE STRUCTURE OF THE OUTER SOLUTION

The outer solution we will seek in the form

$$y(x,\varepsilon) = y_0(x) + \varepsilon y_1(x) + \ldots + \varepsilon^n y_n(x) + \ldots$$
(2)

Here $y_j(x)$ – as long as do not definite functions and one exist on $J(\varepsilon)$ and will satisfy next conditions : $y_0(1) = 1$, $y_0'(1) = a$; $y_k(1) = 0$, $y_k'(1) = 0$ (k = 1, 2, ...).

Substituting (3) on (2) we will have next equations for define of functions $y_k(x)$:

$$Ly_0(x) = y_0'(x) + \frac{1}{x}y_0'(x) = 1, \quad y_0(1) = 0, \quad y_0'(1) = a, \quad (3.0)$$

$$Ly_{1}(x) = -y_{0}'(x) + y_{0}(x)y_{0}'(x), \quad y_{1}(1) = y_{1}'(1) = 0, \quad (3.1)$$

$$Ly_{2}(x) = -y_{1}'(x) + y_{0}'(x)y_{1}'(x) + y_{1}(x)y_{0}'(x), y_{2}(1) = y_{2}'(1) = 0 \quad (3.2) ,$$

$$Ly_{m}(x) = -y_{m-1}'(x) + \sum_{i+j=m-1} y_{i}(x) y_{j}'(x), \ y_{m}(1) = y'_{m}(1) = 0 \quad ,$$
(3.n)

.....

Solution of (3.0) will have the form

$$y_0(x) = a \ln x + 1. \tag{4.0}$$

By using (4.0), for define $y_1(x)$ we have next equation

$$Ly_1(x) = a^2 x^{-1} lnx, y_1(1) = 0, y_1'(1) = 0.$$

From here we have

$$y_1'(x) = u_1(x) = a^2 lnx - a^2 + a^2 x^{-1} \sim a^2 lnx - a^2, x \to \infty.$$

From here

$$y_1(x) \sim a^2 x \ln x - 2a^2 x, \ x \to \infty.$$

$$\tag{4.1}$$

For define $y_2(x)$ we have the equation

$$Ly_2(x) \sim a^3 ln^3 x + a^3 \ln x, y_2(1) = 0, y_2'(1) = 0.$$

Solving this equation we have

$$y_{2}'(x) \sim \frac{a^{3}}{2} x \ln^{2} x - \frac{a^{3}}{2} x \ln x, x \to \infty.$$

By integrating this equation we have

$$y_2(x) \sim \frac{a^3}{4} x^2 \ln^2 x + \frac{a^3}{8} x^2 \ln x - \frac{3}{8} x^2, x \to \infty.$$
(4.2)

For define $y_3(x)$ we have next equation

$$Ly_3(x) \sim a^3 x ln^3 x + a^4 x ln^3 x, x \to \infty; y_3(1) = y_3'(1) = 0$$

From here

$$y_3(x) \sim \frac{a^4}{3 \cdot 3!} x^3 \ln^3 x - \frac{7a^3}{36} x^3 \ln^2 x, \ x \to \infty.$$
 (4.3)

So on from (3.m) we have

$$y_{m}(x) = \frac{a^{m+1}}{m \cdot m!} x^{m} ln^{m} x + a^{m+1} \lambda_{m} x^{m} ln^{m-1} x, \quad x \to \infty,$$

$$y'(x) = \frac{a^{m+1}}{m!} x^{m-1} ln^{m} x + a^{m+1} \gamma_{m} x^{m-1} ln^{m-1} x, \quad x \to \infty.$$
(4.m)

Here and further $\lambda_k \mu \gamma_k$ are noted some real numbers. We must prove formula (4.m) by the method of induction. Let (4.m) is correctly, then we will prove that correct next formula:

$$y_{m+1}(x) \sim \frac{a^{m+2}}{(m+1)\cdot(m+1)!} x^{m+1} ln^{m+1} x + a^{m+2} \lambda_{m+1} x^{m+1} ln^m x, \quad x \to \infty,$$
$$y_{m+1}(x) \sim \frac{a^{m+2}}{(m+1)!} x^m ln^{m+1} x + a^{m+2} \gamma_{m+1} x^m ln^m x, \quad x \to \infty.$$

The equation for define of $y_{m+1}(x)$ have the form

$$Ly_{m+1}(x) = (y_0(x) - 1)y_m'(x) + y_1(x)y_{m-1}'(x) + \dots + y_{m-1}(x)y_1'(x) + y_m(x)y_0'(x).$$

By using (4.0), (4.1),...,(4.m) this equation will have next form

$$Ly_{m+1}(x) \sim \frac{a^{m+2}}{m!} x^{m+1} ln^{m+1} x + a^{m+2} \tilde{\lambda}_m x^{m-1} ln^m x, \ x \to \infty.$$

By integrating this equation we have got (4.m).

Consequently the outer solution we can reprisent next form

$$y(x,\varepsilon) \sim 1 + alnx + a[a\varepsilon xlnx + \frac{1}{2\cdot 2!}(a\varepsilon xlnx)^2 + \dots + \frac{1}{m\cdot m!}(a\varepsilon xlnx)^m + \dots], x \to \infty,$$
(5)

We will select indefinite number a such: $a = \mu = (ln\frac{1}{\varepsilon})^{-1}$, then the equation: $\varepsilon \mu x lnx = 1$ will have the solution $x = \varepsilon^{-1}$ and the series (5) will have next form

$$y(x,\varepsilon) \sim 1 + \mu \ln x + \mu [\mu \varepsilon x \ln x + \frac{\mu^2}{2 \cdot 2!} (\varepsilon x \ln x)^2 + \dots + \frac{\mu^m}{m \cdot m!} (\varepsilon x \ln x)^m + \dots], x \to \infty. (5')$$

This series is asymptotic series on the interval $[1, \varepsilon^{-1}].$

From here we can have got next

Theorem1. Outer solution (2) is asymptotical series in the interval $I(\varepsilon) = [1, \varepsilon^{-1}]$ that is $y(x, \varepsilon) = y_0(x) + \mu y_1(x) + \ldots + \mu^n y_n(x) + \mu^{n+1} R_{n+1}(x, \varepsilon)$.

Here $R_{n+1}(x, \varepsilon)$ is reminder term and for it we have got the estimate:

$$\left|R_{_{n+1}}(x,\varepsilon)\right| \le l \ . \tag{7}$$

(6)

Here l constant that do not depend from \mathcal{E} .

4. INNER AND FULL SOLUTION

Now we will construct the solution of the equation (1) that will satisfy the condition $y(\infty) = 0$.

It is make in (1) next transform $t = x \mathcal{E}$ then we have got

$$u''(t) + \left(\frac{1}{t} + 1\right)u'(t) = u(t)u'(t)$$
(8)

Here $u(t,\varepsilon) = y(x,\varepsilon)\Big|_{x=t\varepsilon^{-1}}$.

Definition 3. The variable t is named inner variable.

Definition 4. We will call the solution of this equation (8) that satisfies the condition $y(\infty) = 0$ the inner solution.

It is evidently if x = 1 then $t = \varepsilon$.

We will rewrite the outer solution (6) in the inner variable t, then:

$$y(x,\varepsilon)|_{(x=t\varepsilon^{-1})} \sim 1 + \mu lnt\varepsilon^{-1} + \mu [\mu \ln(t\varepsilon^{-1}) + \frac{1}{2\cdot 2!}(\mu \ln(t\varepsilon^{-1}))^2 + \dots + \frac{1}{m \cdot m!}(\mu \ln(t\varepsilon^{-1}))^m + \dots].$$
(9)

Series (9) is asymptotical series on the interval $\varepsilon \le t \le \varepsilon^{-1}$.

It is appears that the inner solution will existence not only in the neighborhood of the point $t = \infty$, but also everywhere in $I(\varepsilon) = [\varepsilon, \infty)$. So we will solve the equation (8) with next boundary value problem:

$$u(\varepsilon) = 1, u(\infty) = 0 \tag{10}$$

Теорема 2. The solution of the problem (8) and(10) we can representative in the form $u(t,\varepsilon) = u_0(t,\mu) + u_1(t,\mu) + \dots + u_n(t,\mu) + \dots$ (11)

Here $u_k(t,\mu) = O(\mu^k)$, $u'_k(t) = O(\mu^k)$, (k = 0, 1, 2, ...), that is, $\{u_k(t,\mu)\}$ is the asymptotical sequence.

By inserting (11) in (8) for defining of functions $u_k(t, \mu)$ we have got next equations

$$Mu_{0}(t) = u_{0}(t) + (2 + t^{-1})u_{0}(t) = 0, \quad u_{0}(\varepsilon) = 1, \quad u_{0}(\infty) = 0$$
(12.0)

$$Mu_1(t) = u_0(t)u'_0(t), \quad u_1(\varepsilon) = u_1(\infty) = 0$$
 (12.1)

$$Mu_{2}(t) = u_{0}u'_{1}(t) + u_{1}u'_{0}(t), \quad u_{2}(\varepsilon) = u_{2}(\infty) = 0$$
(12.2)

$$Mu_{3}(t) = (u'_{1}(t))^{2} + u_{0}u'_{2}(t) + u_{1}u'_{1} + u_{2}u'_{0}(t), \quad u_{3}(\varepsilon) = u_{3}(\infty) = 0$$
(12.3)

The homogenous equation (12.0) will have two linear independent solutions

$$U_{1}(t) = 1, U_{2}(t,\varepsilon) = \alpha_{1} \int_{\varepsilon}^{t} s^{-1} e^{-s} ds, \ \alpha_{1} = \alpha_{1}(\varepsilon) = \left[\int_{\varepsilon}^{\infty} s^{-1} e^{-s} ds \right]^{-1} = O(\mu).$$
(13)

Trivial boundary value problem $u_0(\varepsilon) = u_0(\infty) = 0$ for the equation (13.0) will have only the trivial solution.

Лемма 1. The function of Greene for the problem

$$Mz(t) = 0, \quad z(\varepsilon) = z(\infty) = 0$$

will have next form

$$G_{1}(t, s, \varepsilon) = \alpha_{1}^{-1}U_{2}(t, \varepsilon)K_{1}(s, \varepsilon), \quad \varepsilon \leq t \leq s,$$

$$G_{1}(t, s, \varepsilon) = \alpha_{1}^{-1}U_{2}(s, \varepsilon)K_{1}(t, \varepsilon), \quad s \leq t < \infty.$$

$$K_{1}(t, \varepsilon) = 1 - U_{2}(t, \varepsilon)$$
Лемма 2. Задача
$$Mz(t) = f(t), \quad z(\varepsilon) = 0, \quad z(\infty) = 0$$
(14)

here $f(t) \in C[\varepsilon, \infty)$ will have got the unique solution and one have the form

$$z(t) = \int_{\varepsilon}^{\infty} s^2 e^s G_1(t, s, \varepsilon) f(s) ds.$$
⁽¹⁵⁾

The solution of the problem (12.0) has the form

$$u_0(t) = K_1(t,\varepsilon) \,.$$

Now we will make transform in (8)

$$u(t) = u_0(t) + z(t) \tag{16}$$

then one rewrite in the form

$$z''(t) + \left(\frac{1}{t} + 1\right) z'(t) = [u_0(t) + z(t)][u_0'(t) + z'(t)]$$

$$z(\varepsilon) = z(\infty) = 0.$$
(17)

By using of formula (15) we can rewrite the problem (17) in the form of system integral equation

$$z(t) = \int_{\varepsilon}^{\infty} s^{2} e^{s} G_{1}(t, s, \varepsilon) [u_{0}(s) + z(s)] [u_{0}'(s) + z'(s)] ds,$$

$$z'(t) = \int_{\varepsilon}^{\infty} s^{2} e^{s} G_{1t}(t, s, \varepsilon) [u_{0}(s) + z(s)] [u_{0}'(s) + z'(s)] ds.$$
(18)

We will make in (18) the substitution

$$z(t) = K_1(t,\varepsilon)z_1(t), \ z'(t) = K_{1t}(t,\varepsilon)z_2(t)$$

then

$$z_{1}(t) = \int_{\varepsilon}^{\infty} \{ Q_{100}(t, s, \varepsilon) + Q_{110}(t, s, \varepsilon) z_{1}(s) + Q_{101}(t, s, \varepsilon) z_{2}(s) + Q_{111}(t, s, \varepsilon) z_{1}(s) z_{2}(s) \} ds,$$

$$z_{2}(t) = \int_{\varepsilon}^{\infty} \{ Q_{200}(t, s, \varepsilon) + Q_{210}(t, s, \varepsilon) z_{1}(s) + Q_{201}(t, s, \varepsilon) z_{2}(s) + Q_{211}(t, s, \varepsilon) z_{1}(s) z_{2}(s) \} ds.$$
(19)

Here

$$\begin{aligned} Q_{100}(t,s,\varepsilon) &= se^{s}G_{1}(t,s,\varepsilon)u_{0}(s)u_{0}'(s)K_{1}^{-1}(t,\varepsilon), \\ Q_{200}(t,s,\varepsilon) &= se^{s}G_{1t}(t,s,\varepsilon)u_{0}(s)u_{0}'(s)K_{1}^{-1}(t,\varepsilon), \\ Q_{110}(t,s,\varepsilon) &= se^{s}G_{1}(t,s,\varepsilon)K_{1}(s,\varepsilon)u_{0}'(s)K_{1}^{-1}(t,\varepsilon), \\ Q_{210}(t,s,\varepsilon) &= se^{s}G_{1t}(t,s,\varepsilon)K_{1}(s,\varepsilon)u_{0}'(s)K_{1t}^{-1}(t,\varepsilon), \\ Q_{111}(t,s,\varepsilon) &= se^{s}G_{1}(t,s,\varepsilon)K_{1}(s,\varepsilon)K_{1}'(s,\varepsilon)K_{1}^{-1}(t,\varepsilon), \\ Q_{211}(t,s,\varepsilon) &= se^{s}G_{1t}(t,s,\varepsilon)K_{1}(s,\varepsilon)K_{1}'(s,\varepsilon)K_{1}^{-1}(t,\varepsilon), \\ It is true next \end{aligned}$$

Летта 3

$$J_{ij}^{(k)}(t,\varepsilon) = \int_{\varepsilon}^{\infty} \left| \mathcal{Q}_{kij}(t,s,\varepsilon) \right| ds \leq O(\mu), \quad (l = const; i, j = 0, 1; k = 1, 2).$$

Proof. We will consider only the case $J_{00}(t,\varepsilon)$. Other cases will be proved analogously. We will have

$$J_{00}^{(1)}(t,\varepsilon) = \int_{\varepsilon}^{\infty} \left| \mathcal{Q}_{100}(t,s,\varepsilon) \right| ds \leq \int_{\varepsilon}^{t} \left| \mathcal{Q}_{100}(t,s,\varepsilon) \right| ds + \int_{\varepsilon}^{\infty} \left| \mathcal{Q}_{100}(t,s,\varepsilon) \right| ds = \\ = \int_{\varepsilon}^{t} \alpha_{1}^{-1} se^{s} U_{2}(s,\varepsilon) K_{1}(s,\varepsilon) K_{1}(t,\varepsilon) s^{-1} e^{-s} \alpha_{1} K_{1}^{-1}(t,\varepsilon) ds + \int_{\varepsilon}^{\infty} \alpha_{1}^{-1} se^{s} U_{2}(s,\varepsilon) K_{1}^{2}(s,\varepsilon) s^{-1} e^{-s} \alpha_{2} K_{2}^{-1}(t,\varepsilon) ds \leq \\ = \int_{\varepsilon}^{t} \alpha_{1}^{-1} se^{s} U_{2}(s,\varepsilon) K_{1}(s,\varepsilon) K_{1}(s,\varepsilon) K_{1}(t,\varepsilon) s^{-1} e^{-s} \alpha_{1} K_{1}^{-1}(t,\varepsilon) ds + \int_{\varepsilon}^{\infty} \alpha_{1}^{-1} se^{s} U_{2}(s,\varepsilon) K_{1}^{2}(s,\varepsilon) s^{-1} e^{-s} \alpha_{2} K_{2}^{-1}(t,\varepsilon) ds \leq \\ = \int_{\varepsilon}^{t} \left| \frac{1}{2} S \right|_{\varepsilon}^{2} \left| \frac{1}{2} S \right|_$$

$$\leq \int_{\varepsilon}^{t} U_{2}(s,\varepsilon)K_{1}(s,\varepsilon)ds + \int_{t}^{\infty} K_{1}(s,\varepsilon)ds \leq \int_{\varepsilon}^{t} K_{1}(s,\varepsilon)ds + \int_{t}^{\infty} K_{1}(s,\varepsilon)ds \leq$$

$$\leq \int_{0}^{\infty} K_{1}(s,\varepsilon)ds \left| u = K_{1}(s,\varepsilon), dv = ds; du = -\alpha_{2}s^{-1}e^{-s}ds, v = s \right| =$$

$$\leq \alpha_{1}\int_{\varepsilon}^{\infty} e^{-s}ds = e^{-\varepsilon}O[(\ln \varepsilon^{-1})^{-1}] = O(\mu).$$

By using this lemma we easily prove next

Theorem 3 The solution of the equation (19) we can represent in the form

$$z_{1}(t,\varepsilon) = u_{1}^{(1)}(t)\mu + u_{2}^{(1)}(t)\mu^{2} + \dots + u_{n}^{(1)}(t)\mu^{n} + \dots,$$

$$z_{2}(t,\varepsilon) = u_{1}^{(2)}(t)\mu + u_{2}^{(2)}(t)\mu^{2} + \dots + u_{n}^{(2)}(t)\mu^{n} + \dots$$
(20)

and this series will converge in the small parameter μ

The proof of this theorem we will prove by the method of majorant. Let

 $\varphi = \sup_{\varepsilon \le t < \infty} \{z_1(t), z_2(t)\}$. By using of the lemma 3 we will estimate (19) then we have got next majorant equation

$$\varphi = l\mu(1 + \varphi + \varphi^2)$$

The solution of this equation will expand to the analytical series on power small parameter μ

$$\boldsymbol{\varphi} = \boldsymbol{\mu} \boldsymbol{\varphi}_{1} + \boldsymbol{\mu}^{2} \boldsymbol{\varphi}_{2} + \ldots + \boldsymbol{\mu}^{n} \boldsymbol{\varphi}_{n} + \ldots$$

and $|u^{(k)}_{i}(t)| \le \varphi_{i}$ (k, j = 1, 2, ...). Theorem 3 and Theorem 2 proved.

The case of $k \ge 3$ will consider analogously and true next

Theorem 4.The solution of the problem(8) and(10) we can representative in the form $u(t,\varepsilon) = u_0(t,\tilde{\mu}_k) + u_1(t,\tilde{\mu}_k) + \dots + u_n(t,\tilde{\mu}_k) + \dots$ (21)

Here
$$\begin{split} \tilde{\mu}_{3} &\sim \varepsilon \ln \varepsilon^{-1}, \ \tilde{\mu}_{j} \sim \frac{j-1}{j-2} \varepsilon \ (j \geq 4), \varepsilon \to 0; \ \ u_{m}\left(t, \tilde{\mu}_{k}\right) = O\left(\mu_{k}^{m}\right), u'_{m}\left(t\right) = O\left(\mu_{k}^{m}\right), \\ \tilde{\mu}_{k} \to 0, \ \left(m = 0, 1, 2, ...\right) \end{split}$$

that is, $u_m(t, \tilde{\mu}_k)$ is the asymptotical sequence. Series (12) will convergent uniformly in the interval $[\varepsilon, \infty)$.

5. CONCLUSION

Method of structurally matching will help what small parameter power series will expand of the solution Lagerstrom's model equation and one solution is not only asymptotical series but and uniformly convergent for some small parameter.

REFERENCES

- [1]. Lagerstrom P.A., Matched asymptotic expansions. Ideas and techniques.Springer-Verlag, 1988.
- [2]. Suchdev P.L., Nonlinear ordinary differential equations and their applications.Vercel Dekker, Inc., 1991.
- [3]. Cohen D.S., Fokas A., P.A.Lagerstrom, Proof of some asymptotic results for a model equation for low Reynolds number flow, SIAM J.Apll.Math., Vol.35, No1, pp.187-207, 1978.
- [4]. Cole J.D., Perturbation methods in applied mathematics, Blaisdell Publishing Company, 1968.
- [5]. Kevorkian J., Cole J.D. Perturbation methods in applied mathematics, Springer-Verlag, 1981.
- [6]. Bush B.,On the Lagerstrom mathematical model for viscous flow at low Reynolds number, SIAM J.Appl.Math.,Vol.20,No 2,pp.279-287, 1971.
- [7]. Hsia G.C., Singular perturbation for a nonlinear differential equation with small parameter, SIAM J.Math.Anal., Vol.4, No 2, pp. 283-301, 1973.
- [8]. Nunter C., Tagdari , Boyer S.D., On lagerstrom, s model of slow incompressible viscous flow, SIAM .Appl.Math., Vol.50, No 1, pp.48-63, 1980.
- [9]. Hinch E.J. Perturbation methods.Cambridge university press, 1981.
- [10].Skinner L.A., Note on Lagerstrom singular perturbation models. SIAM J.Appl.Math., Vol.41, No.2, pp. 362-364 1984.
- [11].HastingsS.P., Mcleod J.B., Classical methods in ordinary differential equations, with applications to boundary value problems. AMS, 2012.
- [12].RosenblatS.,Shepherd J.,On the asymptotic solution Lagerstom model equation, SIAM J.Appl. Math., Vol.29, No.1, pp.110-120, 1975.
- [13]. Alymkulov K., Tolubaev J., Solution of the Lagerstrom model problem. Math.Note, Vol.56, No.4, pp. 3-8,1994,
- [14]. VanDyke M., Perturbation methods in fluiddynamics, Academic Press, New York, 1964.
- [15].Il'in A.M. Matching of asymptotic expansionsof solutions0f boundary value problems. AMS, 1992.
- [16]. Alymkulov K., Zulpukarov A., Uniform asymptotic of the boundary value problem of solution of the singulary perturbed equation of the order two with the weak singularity, Report RAN, Vol. 398, No. 3, pp. 383-386, 2004.
- [17]. Alymkulov K., Jeentaeva J.K., Method of structural mathching the solution to the Lighthill model equation with a regular singular point, Doklady Maths, Vol.70,No.2, pp.1-6 ,2004.
- [18]. Alymkulov K., Jeentaeva J.K., Method of structural matching for the model Lighthill equation with the regular critical point, Math.Note, Vol.79, No.5, pp. 643-652, 2006.
- [19]. Alymkulov K., Omuraliev, M.K. Solution of the singularly perturbed differential equation of Lagerstrom by the method of structurally matching(in Russian), Abstracts of internat.conf. on "Funct. Analys.and its apll." Astana, 2012, 2-5 October, pp.106-107.
- [20]. Alymkulov K., Method of structural matching and his application, Abstracts, Inter.Congress of Math., p.311, Seoul, 2014.

AUTHOR'S BIOGRAPHY



KeldibayAlymkulov - Doctor of physical-mathematical sciences from mathematical institute of Academy Sciences of Soviet Republic 1991 and his adviser was academician of RANAnosov D.V. His field of interest is Asymptotical theory of differential equations, Nonlinear oscillations, Theory of bifurcation. He published more 150 research articles. This time he is director of the institute of fundamental and applied researches at Osh state university and professor of department of algebra and geometry.

Mars KeneshalivichOmuraliev is scientific researcher of institute of business and social development in Bishkek(Kyrgyzstan). He graduate Kyrgyz national university in 1993. He have got 6 research articles.

